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Fluency Fifteen ESession 3 j

1. Using the symbols < > =, complete the sentence.
double thirty G
2. Can you spot the mistake in this sequence?
1050 1000 950 900 855 800
o8 10 more han 974

4. True or false?
764 - The value of the tens digit is seven.

5. What number should be shown in the box?

! Elj 8|O

. Three hundred and sixty minus forty equals
550- =250

A4 XT=

9.15 &= =5

10.775-324 =

11. 356 + 475 =

12. 671 -355 =

13.437 - 152 =

© N O

14. Would you rather have three 50p coins or two
£1 coins? Explain your answer.

15. Using the digit cards make an even number
greater than 600.
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